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Five persons A, B, C, D and E have different heights. Less than two persons are shorter than D. As many
persons are taller than D as shorter than C. A is taller than B but shorter than E. B is not the shortest person.

The height of third tallest person is 86 cm. U <gfad A, B, C,D3ﬁT E Y ﬁ'lé’ 3TeldT-3eldT %I a A
IfFd D& B §1 foas =afFa p{ @ § 3«1 &1 cH B 1 A, BH &aT ¢ oAfheT EX BT 31 B
HA9H BT AfFd A8l g1 S 99 o FFd fr 315 86 T B

10. If the height of shortest person is 68 cm, then what may be the height of B?
(a) 69 cm (b) 81 cm (c) 78 cm (d) All the given heights (e) None of these

11. How many persons are taller than C?
(a) None (b) One (c) Two (d) Three (e) None of these

12. Who among the following is just shorter than E?
(a) None (b) C(c) A (d) D (e) None of these
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13. Statements: All Greens are Yellows. No Yellows are
Black.
Conclusions: I. No Greens are Black.
II. Some Greens are Black.
(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.

14. Statements: All Chairs are Sofas. Only a few Sofas
are Beds. No Beds are Curtains.
Conclusions: I. Some Sofas are not Beds.
II. Some Sofas are not Curtains.
(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.
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15. Statements: Only a few Coffee are Tea. All Tea is
Drinks. Only a few Drinks are Cold
drinks.

Conclusions: 1. Some Tea is not Cold drinks.
II. No Coffee are Drinks.

(a) If only conclusion I follows.

(b) If only conclusion Il follows.

(c) If either conclusion I or Il follows.

(d) If neither conclusion I nor II follows.

(e) If both conclusions I and II follow.

16. Statements: All Flowers are Trees. Only a few
Trees are Gardens. No Gardens are
Lawns.
Conclusions: I.  All Lawns can never be Trees
II. Some Flowers can be Gardens
(a) If only conclusion | follows.
(b} If only conclusion Il follows.

(¢} If either conclusion | or Il follows.
(d) If neither conclusion I nor 11 follows.
e) If both conclusions 1 and 1 tollow.
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Seven persons A, B, C, D, E, F and G are sitting in row and all are facing towards north
but not necessarily in the same order. B sits second from one of the extreme ends.
Three persons sit between D and B. Two persons sit between D and A. C sits to the
immediate left of A. F sits to left of C but is not an immediate neighbour of C. More
than two persons sit between F and E.

T SAfFd A, B, C, D, E, F 3 G 9fad 7 35 § 31X qaft 1 7@ 3av &y 3R & aferat

ITETF Ag1 5 HH H 811 B I v AT SR A X TAT W 18| D 3B F i
dacafFadsgipsiRaFAaaiafFadsdic, AF SF a1 I dsaTgIF cF IS
3T dod1 8, AfheT ¢ F1 Aheasw =1 181 81 F 311X E & fiw Y § 31fas safFag daa &
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Seven persons A, B, C, D, E, F and G are sitting in row and all are facing towards north
but not necessarily in the same order. B sits second from one of the extreme ends.
Three persons sit between D and B. Two persons sit between D and A. C sits to the
immediate left of A. F sits to left of C but is not an immediate neighbour of C. More
than two persons sit between F and E.



http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/ “

FDGCABE
17. How many persons sit to the left of F?
1 F&h 9 fhda e &8 &2

(a) Two (b) None (c) One (d) Three (e) None of these

18. Who among the following sits third to the right of G?
ffaf@a # @ #l7 6 F & § WX T W o7 772
(a) E (b) C (c) B (d) F (e) None of these

19. Who among the following persons sit at the extreme ends?
fArafaf@a & @ #i9 3ifaxw s W do1 §7
(a) FFA(b) A, E(c)G, E (d) F, E (e) None of these
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FDGCABE 20. How many persons sit between D and E?

D 3R EF #AeF fohda =gfga & &2

(a) Two (b) Four (c) Three (d) One (e) None of these

RERREER:

21. Who among the following sits to the immediate left of E?

farfaf@a & @ &l E37 8 I daT 87
(a) G (b) A (c) B (d) D (e) None of these
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Point D is 10m north of point P. Point Y is 14m east of point D. Point Q is 8m north of point Y. Point S
is 20m west of point Q. Point H is 8m south of point S ﬁg%P & 10 Her 3 # gl
3:14==naq-c’r:ﬁr%|ﬁ-§q, a;sznam | fag s, g % 20 #Aex

# ¥ Rig H, g s¥ 8 A Bl

22. What is the shortest distance between point H and point D?
. g H3ik g p&F 7ew wgeraw gt fraelt 872
(a) 8m (b) 6m (c) 4m (d) 10m (e) None of these

23. In which direction is point P with respect to point Q?
fag o F wead A fag pfrw faeam & 872

(a) South east (b) North west (c) South west (d) North east (e) None

of these !ﬁ'} godm
e

o
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There are certain number of persons sitting in a row facing towards north direction. A?ts'
fifth to the right of B. Two persons sit between C and B. D sits fourth to the left of C. Four
persons sit to the left of D. The number of persons sit between D and B is same as the
number of persons sit between B and F. F sits at fourth position from one of the extreme
ends.

U UTFd A ARTd &1 # afed 3ax m A A IA@ gt a5 &1 A, B & S & UTad
T W ot c 3B F ot aFa ¥ ¥ b, c F I A Tl T W ST D F AE
I AR ITFT 3 &1 D 31 B & T doat gt AFA A TeATFAA g AFIB IR FF
dig H d5d §1 F 5 e A s 9 9 T W dsarg |
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There are certain number of persons sitting in
a row facing towards north direction. A sits
fifth to the right of B. Two persons sit between
C and B. D sits fourth to the left of C. Four
persons sit to the left of D. The number of
persons sit between D and B is same as the
number of persons sit between B and F. F sits

at fourth position from one of the extreme
ends.
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24. How many persons sit between B and D?

B 3iIX D& ALY fhaxr afda & &2

(a) None (b) Six (c) Five (d) Four (e) None of these

25. How many persons sit in the row? g9fed # fFaa =fFq & %?

(a) Twenty (b) Twenty-one (c) Twenty-two (d) Nineteen (e) None of these

26. Who among the following sits second to the right of A?
fArafaf@d & @ Fla AF ¥ § @ T W &7 82
(a) None (b) C (c) D (d) F (e) None of these

27. How many persons sit to the right of B? B & e fhaea gfFa & %?
(a) Nine (b) Ten (c) Eight (d) Eleven (e) None of these
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28. How many such pairs of letters are there in the meaningful word ‘MATCHES’
each of which has as many letters between them in the word as in the English
alphabet (From both backward and forward)?

YT ereq 'MATCHES' H eI & 0 vt o7 § fod @ v+ & dfiw
maam%ﬁaﬁ%maﬁmmﬁagaﬁzmmm

(a) Two (b) One (c) More than three (d) Three (e) None of these
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COT IVY PEA FOX MRU

29. If we add ‘L’ after first letter in every word, then how many meaningful words will be
formed?

I A Ycdd Asq A Ugd HEW & a5 'L' A3 &, A fraer rdqot ereq a=iar?
(a) None (b) Three (c) Two (d) One (e) None of these

30. If third letter of each word is replaced by its succeeding letter according to English
alphabetical order, then in how many words vowels will appear more than once?

i 3PS FOTATT F FH F ITAR TAF Teg F AN HER F 38qF a1 F
HER F dco f&ar e, o fFdet ereal A TaX UF @ 9% dIR 3Ta?
(a) Two (b) One (c) None (d) Three (e) None of these
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COT IVY PEA FOX MRU

31. If all the words are arranged according to English alphabetical order from left to right, then which word

will appear fourth from the left end? Ife Haﬁﬂlﬁﬁ' I S JUIATAT & HHA H ¢ T a0
caafeyd fhar SiTar §, oY i a1 e TIv o 4 dlur @S dem?
(a) MRU (b) FOX (c) PEA (d) IVY (e) None of these

32. If all the letters are arranged according to English alphabetical order within each word, then in how

many words vowel will appear at second positiorj?'«flﬁ Y& e A GHT 18RT Y AT JUTATT
& FH A Jaieyd fHar S, Ot fFaa aeal A F&T gy T W AT?
(a) One (b) None (c) Two (d) Three (e) None of these

33. How many letters are there in English alphabetical series between the first‘letter of the second
word from the left end and third letter of the third word from the right end? 3T3sil JUTHTAT A&l

ﬁart%a’ltﬁa,:a'tem%qeﬁﬁmaﬁTWWQmamaﬁﬁmam#aﬁhmﬁ
& 872
(a) Five (b) Six (c) Seven (d) Four (e) None of these


http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ 0

34. If in the number ‘35982476’, 1 is added to each even digit and 2 is subtracted from
each odd digit, then which digits will not appear twice in the number thus obtained?
Ife W&AT '35982476' H, A% WH IHF A 1 AT AT § 3N v+ [QwH 3+
¥ 2 GSHT ST §, df SH YR UIcd T&IAT H HiedT T 3% & a1 Asl HATCI?
(a) Only 1 (b) Only 9 (c) Both ‘1’ and ‘9’ (d) Only 5



http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ “

S|x people P, Q, R, S, T and U have events on different dates 7th and 12th of different
months i.e. January, February and March. D has event on even numbered date in the
month having 31 days. The number of persons have event before D is same as the
number of persons have event after A. One person has event between A and C. F has
event before C. B has event just before E.

S:<qfFd P, Q, R, S, T 31T U & 9TH A cl91-3cl9T Al ahr 7 31X 12 ardr@y 3rgTa
STeTal, BIaT 3 AT &Y AN-3Te19T dRE & | D & 91 31 el a1k A A 9
HEIT qrell T G GSAT R | D A Ugol ICAT Tl safaddl hl TET, A ¥ 91 TTAT
qr AP aA N TEAF TAA I AR cF N vF gFa N acar g FHraearc
A 9g &1 B A GTTE F S T &1
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Six people P, Q, R, S, T and U have events on
different dates 7th and 12th of different months
i.e. January, February and March. D has event on
even numbered date in the month having 31
days. The number of persons have event before
D is same as the number of persons have event
after A. One person has event between A and C.
F has event before C. B has event just before E.
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Months | 7% | 12

| February | C | B
| _March | E | D |

35. How many persons have event before B?
BE Uga fhaet safFaal v geer 82

(a) Two (b) None (c) Three (d) One (e) None of these

36. Who among the following has event just after D?

rafaf@a & @ 9 99 D& S+ a1g gear g7
(a) C (b) None (c) B (d) F (e) None of these

37. How many persons have event between F and D?

.F3R D& fiw frasr afFaaY v gear 22
(a) One (b) Three (c) None (d) Two (e) None of these
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38. E has event on which among the following date?

ionihs | 7o | i7e | [PPSR Ny T g e

-_ (a) 12th February (b) 12th March (c) 7th March (d) 7th
- rEla January (e) None of these

| _March | E | D

39. Four of the following five are alike in a certain way
and hence form a group. Which is the one that does not
belong to that group?

frafaf@d v # @ IR ve @ARag als @
AT g IR AT v gAg sad 1 ag FlT AT &
A 38 WAE @ Hafta g 87

(a) A, F (b) E, F (c) F, C(d) E, B () C, B
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40. Four of the following five are alike in a certain way and hence form a group.
Which is the one that does not belong to that group?

ﬁmﬁﬁawﬁ#wwmmﬁw%aﬁtmtwm
ST 81 9% ST W1 § I 37 WAE W IO 81 87
(a) RUY (b) SQO (c) OMK (d) FDB (e) YWU
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Ten people are sitting in two parallel rows having five people each, in such a way that there is an
equal distance between adjacent persons.Inrow 1-V, W, X, Y and Z are seated (but not
necessarily in the same order) and all of them are facing North.Inrow 2-F, G, H, | and J are
seated (but not necessarily in the same order) and all of them are facing south. Therefore, in the
given seating arrangement, each member seated in a row faces another member of the other
row. Y sits third to the left of W. The one who faces Y sits second to the right of F. Only one
person sits between F and I. H and J are immediate neighbors of each other. J does not sit at any
of the extreme ends of the line. The one who faces G sits to the immediate right of Z. X is not an
immediate neighbor of Z.

&H ST &1 WA IfFaal & 43 §, o1t Ucd+ A 91y <A 8, 59 TR Aol Tl &
fraAE gl gl afFa 17 - v, w, X, v 3R 2 33 § (@ sl 7181 & st o o o) silv 3T wsfh
FIHE SR P INL IFT2H - F, G, H, 1 317 ) 33T (AfraT sl 181 T st wor ot ) s 31
T3t &1 7@ faor A 3R ¢ SHAT, & 71 o Y TaTYUT A, T UfFd # 38 TS HEEd &I
@ g dl Ui & gy e A AR TN Y, W H a2 & e e R der ¥ ag Ay A 3R s
EaE F$ o ¥ g T W AT} F 3R 1 & i e v safFa ot H A v gEY &
frreds asilt €1 ) afFa & frel oft 3ifasr s gt dor | g safFa N e Fr AR 3=A@ e, 2%
P A doT 81 X, 2 FT Aheaq =1 AT &
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Ten people are sitting in two parallel rows
having five people each, in such a way that
there is an equal distance between adjacent
persons.Inrow 1-V, W, X, Y and Z are seated
(but not necessarily in the same order) and all
of them are facing North.Inrow2-F, G, H, |
and J are seated (but not necessarily in the
same order) and all of them are facing south.
Therefore, in the given seating arrangement,
each member seated in a row faces another
member of the other row. Y sits third to the
left of W. The one who faces Y sits second to
the right of F. Only one person sits between F
and I. H and J are immediate neighbors of
each other. J does not sit at any of the
extreme ends of the line. The one who faces G
sits to the immediate right of Z. X is not an
immediate neighbor of Z.
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36. Who amongst the following faces H?

frrfaf@a & @ Fla H#r AR 37T 72
AY BV €z DW EX

37. Who amongst the following sits to the immediate left
of the person who sits exactly in the Middle of the row

with south facing people? AFafaf@a & q =i 39
AfFd & S a1 a1 § S AT AT IR HG FH
$ ot & Wiy 9fFT F SF Aew F dor ¥7

A.l B.H C.1 DC E.F

38. Who amongst the following sits third to the right of

the person who faces X?ﬁfﬁlﬁﬁﬁ' T dlF XY
IR 3+HT AFT F g F Ny T W o1 372
A.G B.F C.J D. | E.H
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39. Four of the following five are alike in a certain way
based on the given seating arrangement and thus form a
group. Which is the one that does not belong to that
group? & 3§ 43 A TTEAT F IMYR W
frfaf@a g/ # ¥ IR v @AfRRaa ol @ ad =
g 3 W YFR UF WA dd 8| 9§ SieT AT §

:ﬂrm#mﬁaﬁ%?
A.HB.IC.WD.YE. X

40. Which of the following is true regarding V?

VEH gay A farafaf@a & @ «la a1 a3 82
A. None of the given options is true

B. An immediate neighbor of V faces F

C. X is an immediately neighbor of V

D. W sits to immediate right of V

E. V faces |
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